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Further simplified reading and comprehension Unit 3

Answer key

Comprehension 3
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A
beef

because it produces 20% of the world’s oxygen (any reasonable answer)

C

D

unsettling

i) steroid hormones
i)  antibiotics

having (a little) less meat

i) T
i) NG
i) F
iv) T

v’ it costs a lot of money
v’ it is not moral
it leads to poverty
v itis not healthy
v

it is bad for the environment

(i) vegetarian

(ii) environment

(iii) forests/rainforests
(iv) livestock/cattle

i) consuming

ii)  insatiable
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(v)  health
(vi) disasters

(vii) effort

iii) adverse

iv) pressing

You may photocopy this page for teaching and learning purposes.



